gilles.tooling

pajeanun 0Ly noq YAMEO-ZI6-0GXGIN | 8T
pajeanun oLy 1aysem YA-GZLE'GSIN | LT
pajeaiun L00Z-MY N3 | @ouejsip #6'9-02 80 9z
pajesijun L002-MY N3 | Buysng 90-SQ-Y.19 5C
pazipoue L002-MY N3 | Buysng ~50-SQ-YLD v
pajeaiun Jagqni ayns ae Jagapyny £z
pajeaiun opserd Bnid 10-1S A
pajeaiun YBlNOd | ped ysesn 8-20d0-Y.19 L'z
Jojoajoud ajxe | 1'[g-GL'6-66'8-VLID | T
pejeanun £00Z-MV N3 | 9ouejsip #-01-0z Sa gL
Jispueysqun oL-zy noq YA-ZL6-05X8I L
pajeanun oLy 1aysem YA-F'8-SIN 9l
pajeaiun L002-MY N3 | Buysng 20-Sa-YL9 5l
pazipoue L002-MY N3 | Buysng ~10-8Q-YLD vl
pajeanun Jaggni ayng ag Jegapyny gl
pejeasun oyseld onid 10-1S A
pajeanun HOBIGNOd | ped yseso 8-20d0-Y.19 [
Joyodjoud ajxe|  [Z-G'bZ-L'€T-VLD | )
juawieal) aoeuns |euajew uopduosap ‘ou 9|oIue ‘sod

GTA-F-S01 Axle Protector

Anbauanleitung/ Manual

Anbauanleitung (ohne Darstellung)
Manual (without picture)

| 1x |

Lieferumfang
Scope of delivery

Revision 00, 28.10.2014



GTA Axle Protector . _
gilles.tooling

Anbauanleitung/ Manual

Allgemeine Hinweise
-Ein unsicher aufgestelltes Motorrad kann bei den folgenden Arbeiten umfallen! Achten Sie darauf, dass das Fahrzeug
sicher steht.

-Verbrennungsgefahr bei heissem Motor und Auspuff! Vor Beginn der Arbeit heiBe Fahrze
-Kinder und Tiere aus dem Arbeitsbereich fernhalten.

-Schmuck (Uhr, Ringe, Ketten, etc.) vor Arbeitsbeginn ablegen.Es besteht Unfallgefahr
-Die Montage und Funktion bezieht sich ausschliesslich auf Serienmotorrader.
-Nach Montage des Produkts durch eine Werkstatt, ist diese Anbauanleitung dem K
-Bewahren Sie die Anbauanleitung sorgfaltig auf.

pkiihlen lassen.

General instructions
-Please ensure the motorcycle is adequately secured before commencing work
-Always make sure that the motorcycle is stable and firmly supported.

-A hot engine and exhaust system can burn. Allow all hot parts to cool off bg
-Keep children and pets away from the work zone.
-Remove all items of personal jewellery (rings, chains,wristwatch, etc.) bg
-The fitment instructions relate only to the fitment on a standard motorc
-If a technican is installing the parts please ensure these instructions are
-Please keep the instruction manual at a safe place.

. R
A Achse reinigen!
.
. clean the axle!
& i/
. I ‘-,
¢ / 4

Der Montageablauf ist auf beiden Seiten prinzipiell identisch und es besteht auch kein unterschied zwischen Vorder-
und Hinterachse! Prifen Sie durch Messen welcher AulRendurchmesser zu der entsprechenden Motorradseite passt.
Stecken Sie nun den Protektor mit dem Klemmelement in die geséauberte, fettfreie Hohlachse!

B: Montieren Sie den Protektor (verspannen des Klemmelementes) durch Anziehen der Schraube! (Die Nut ist dabei
wie in der Darstellung gezeigt, gerade und nach unten ausgerichtet) Letztlich kann der Stopfen eingedriickt werden.
Ausrichten des Symboles wie abgebildet, sodass die beiden G nicht auf dem Kopf oder schief stehen!
Anzugsdrehmoment fiir Schraube M5: 4Nm / fir Schraube M6: 8Nm / fir Schraube M8: 16Nm

C: Zur eventuellen Demontage des Stopfens wird ein flacher Schraubendreher in den vorgesehenen Spalt eingefihrt
um den Stopfen mit Gefihl und zerstérungsfrei rauszuhebeln.

A: The assembly procedure is shown exemplary for the GTA- product group. Similar pictures. The following steps of
installation are in principle on both sides the same and there is also no difference between front and rear axle!
Measure which outer diameter fits to the corresponding side of the motorcycle. Put now the front axle protector with its
clamping element into the cleaned and fat-free axle!

B: Install the front axle protector (brace the clamping element) by tighten the bolt. (Align the slot straight and on the
bottom like shown in the picture) Finally you can install the plug. Align the symbol like shown in the picture, so that
both G are not upside down or incline!

Tightening torque for bolt M5: 4Nm / for bolt M6: 8Nm / for bolt M8: 16Nm

C: In case of disassembling the plug you have to use a flat screwdriver. Put it into the intended crack and annul the
plug with caution and nondestructive.

Revision 00, 28.10.2014





